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|[:%iva EFZ iz GROSS OUT IN HP NET [[=¥iv EFZ B GROSS OUT IN HP NET B4 EFZ Fr B GROSS OUT IN HP NET
o 1 E &N FEDEGC 78 (39 39) 14 64 36 A f5E) ZRCC 81 (4338) 8 73 71 B #RAT RILBCC 84 (4143) 6 78
o 2 K EH =700 80 (3842) 16 64 37 HZ EER =mCC 79 (4039) 6 73 72 ZEPF f@KBEB  &=cC 88 (43 45) 10 78
o 3 BElFHEFE Z3=CC 85 (4144) 19 66 38 HAFE 3L HILBCC 86 (43 43) 13 73 73 R BE8 =ECC 90 (4347) 12 78
o 4 EHIE FEDEGC 78 (40 38) 11 67 39 AR B =RCC 83 (4043) 10 73 74 AH B L&feEcc 93 (43 50) 15 78
o 5 MR ES% HGA 83 (43 40) 16 67 40 R 2 LBfIECC 86 (41 45) 13 73 75 JFEE BR =ECC 91 (42 49) 13 78
O 6 MEsE= =EBCC 84 (42 42) 17 67 41 [EAR B0 B%CC 86 (4145) 13 73 76 M EDHEGC 94 (42 52) 16 78
O 7 HIFE LR Z3CC 77 (39 38) 10 67 42 MNEE TSiE Fy59IGC 79 (37 42) 6 73 77 HRE ECC 87 (46 41) 8 79
o 8 HLEME EEiEGC 74 (3836) 6 68 43 M@l =h HGA 85 (44 41) 11 74 78 i)t BRE AHBCC 87 (4542) 8 79
o 9 [EHKBS HGA 73 (3637) 5 68 44 K EKER =/CC 75 (3837) 1 74 79 HL B =ECC 88 (4543) 9 79
o 10 =iF1EE LRBERGC 75 (3540) 7 68 45 o]EF £ RILBCC 81 (4140) 7 74 80 M)l B= EDEGC 90 (45 45) 11 79
o 11 BH EE LEfECC 84 (44 40) 15 69 46 FIA == FERCC 87 (44 43) 13 74 81 #\[E =i LBfEcC 94 (47 47) 15 79
© 12 [ {26 PU-u-rGC 83 (40 43) 14 69 47 I\E BLED FEECC 77 (3839) 3 74 82 KB H%& EBGC 83 (4043) 4 79
© 13 HAH #1183 =J&ECC 79 (36 43) 10 69 48 PR RAR AFCC 82 (3943) 8 74 83 EF HEK #5CC 96 (49 47) 16 80
o 14 B %% =BcC 86 (44 42) 16 70 49 FH X ST IICC 85 (3946) 11 74 84 =A sha EDEGC 92 (46 46) 12 80
O 15 =8 A LEBEERGC 76 (3937) 6 70 50 HET =& NFHCC 84 (44 40) 9 75 85 M iE LBEKRGC 86 (4343) 6 80
o 16 AR FHY REFECC 78 (4038) 8 70 51 45 IEA8 LEf#ECC 87 (43 44) 12 75 86 AfR BB =RCC 86 (3947) 6 80
© 17 #tE3hEE =700 84 (40 44) 14 70 52 /NIl Z=7) HLBCC 80 (3941) 5 75 87 HIH B KK CC 94 (43 51) 14 80
© 18 EHH— HGA 82 (38 44) 12 70 53 FH F1E HGA 82 (4042) 7 75 88 FILEH— F2CC 88 (47 41) 7 81
o 19 IEEE =ECC 79 (4237) 8 71 54 fEH = =/CC 82 (4042) 7 75 89 t&m E3I BRCC 93 (48 45) 12 81
O 20 K {ES E#’GC 79 (4039) 8 71 55 BH 19 ZA$pCC 87 (43 44) 12 75 90 AN FIE =JECC 92 (4349) 10 82
o 21 FHEB= ZECC 77 (3938) 6 71 56 AfRH i LBf#facc 85 (42 43) 10 75 o1 | Byt $EBERCC 95 (49 46) 11 84
o 22 [H &% =J®CC 81 (4140) 10 71 57 BER ZFR -y volakGC 87 (41 46) 12 75 922 H & FEDEGC 93 (4746) 9 84
o 23 HEEZ =ECC 86 (4343) 15 71 58 #EM &2 £mCC 80 (4238) 4 76 93 WNiE B =EcC 98 (4751) 11 87
O 24 HK (RS ERCC 83 (4142) 12 71 59 A1l I [KBfI%ECC 83 (4043) 7 76 94 FEH & R8facc 99 (47 52) 11 88
O 25 Nk =JRCC 83 (4142) 12 71 60 PEA 252 EDEGC 78 (3543) 2 76 x5 KE bR [EBGC

26 TfE RA| BECC 84 (4143) 13 71 61 M= RIA 700 95 (49 46) 18 77 x5 EIX JEE ESEGC

27 )| B LEEBRGC 74 (36 38) 3 71 62 HE KE LEFECC 84 (4341) 7 77 ®E FRE R LEGC

28 fRH F4 =700 92 (4547) 21 71 63 B8 8k )5 vaLAhGC 85 (43 42) 8 77 =g BB BRCC

29 [E#y Stk AIBCC 79 (3841) 8 71 64 FTEE =BCC 96 (47 49) 19 77 =5 fRE (S5 #EFMGR

30 A B4 =BCC 84 (3846) 13 71 65 {E4AZER HGA 88 (43 45) 11 77 x5 {T4R A [EEBHIEECC

31 YL BAEN LBERGC 75 (3837) 3 72 66 LM [EE HILECC 86 (4046) 9 77

32 BH HE FEECC 81 (4140) 9 72 67 BR R EDEGC 87 (44 43) 9 78

33 Bl =iE =[ECC 80 (3941) 8 72 68 S35 i NFHCC 88 (4543) 10 78

34 HB R #3CC 83 (3845) 11 72 69 JEM B HGA 90 (45 45) 12 78

35 )0 &t #2=CC 103 (54 49) 30 73 70 SEK BIKBCC 88 (44 44) 10 78
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